IBFF B R RRR (R =1L]

FERIHE (1) HE®RE () k=
= 7 6-1 = HETARTH (641-1) SEME
= 7 6-2 = HETRTH 6-2 HMBELE
=W & 6-3 = HETARTH 6-3 HEBELE
= 7 6-4 = HETRTH 6-4 HMBELE
=W & 6-5 = HETARTH 6-5 HMBELR
=W N 6-6 =SHBTATH (645-1) SEME
= & 6-7 = HETARTH (641-1) BEME
= N 6-8 = HEIRTH (6-4) SEME
=W & 6-9 = HETARTH 6-9 HMBELEE
= & 6-10 = HETRTH 6-10 HMBELER
=W A 6-11 = HETARTH (6-2) BEME
= A7 SHEIATH 7 hELE

= HETARTH 7-1 NEMTE
= A 10-2 = HETRTH 10-2 HMBELER
=W " 11-2 = HETARTH 11-2 HMBELEE
= " 12-1 S HEIATH (13) BEhE
=W A 12-2 = HETARTH 12-2 HMBELE
= w13 = HETRTH 13 HMBELR
= N 14-1 SHEIATH (13) SEME
=l A 14-3 SHEATEH 14-3 MELE
=W A 15-2 = HETARTH 15-2 HMBELE
=W 7 16-2 SHBTATH (13) AEME
=W 7 16-3 = HETARTH 16-3 HMBELE
=l A 26-1 SHEATEH 26-1 MELE
=W & 26-2 = HETARTH 26-2 HMBELE
=L 7 28-2 SHEATH 28-2 MELE
=1 A 30-2 =HBTATH 30-2 hBELE
= A 31-1 = HETARTH (26-1) BEME
=1 A 32 =HBTATH 32 hBELE
= 7 33-1 = HETARTH (26-1) BEME
=1 A 37-1 =HBTATH 37-1 hBELE
=i A 37-3 = HETARTH 37-3 HBELEE
= N 37-4 = HETARTH (37-3) BEME
= A 42-2 = HETARTH 42-2 HMBELER
=1 & 47-2 =HBTATH 47-2 hBELE
= 7 48 = HETARTH 48 HBELEE
= W 51-2 = HETARTH (47-2) SEME
= A 52-2 = HETARTH (681-1) SEME
= N 52-3 = HETARTH (47-2) SEME
= 7 53-2 = HETARTH (681-1) BEME
= N 53-3 = HETARTH (47-2) SEME
= A 54 = HETARTH (681-1) BEME
= ™ 55 = HETARTH (681-1) SEME
= 7 56 = HETARTH (681-1) SEME
= W 57 = HETARTH (681-1) SEME
=W 7 58-1 = HETARTH 58-1 HMBELR
= A 58-2 = HETRTH 58-2 HMBELE
=W 7 59-1 = HETARTH 59-1 HMBELR
= A 59-2 = HETRTH 59-2 HMBELE
= 7 60-1 = HETARTH 601 HMBELER




IBFF B R RRR (R =1L]

FERIHE (1) HE®RE () k=
= 7 60-2 = HETARTH 60-2 HEBELE
= A 60-3 = HETRTH 60-3 HMBELE
=W 7 61-1 = HETARTH 61-1 HMBELR
= N 61-2 = HEIARTH (13) SEME
= 7 62-1 = HETARTH 62-1 HMBELR
= A 62-2 = HETRTH 62-2 HMBELER
= & 63 = HETARTH 63 HMBELE
= N 64 = HEIRTH (63) SEME
=W & 65 = HETARTH 65 HMBELEE
= ™ 66 = HETRTH 66 HMBELER
=l & 67 SHEBTATH (66) BEME
= N 68 = HEIRTH (66) SEME
= ™ 69 = HETARTH (66) BEME
= A 70 = HETRTH 70 HMBELER
=W " 71-1 = HETARTH 71-1 HMBELER
= A 71-2 = HETRTH 71-2 HMBELER
=W A 72-1 = HETARTH 72-1 HMBELE
= A 72-2 = HETRTH 72-2 HMBELR
= N 73-1 SHEIATH (71-2) SEME
=W & 73-2 SHBTATH (72-2) BEME
=W A 74-1 = HETARTH 74-1 HMBELE
= A 74-2 = HETRTH 74-2 HMBELR
= W 75 SHEIATH (74-1) SEME
= ™ 76 = HETRTH 76 HMBELR
=W Al = HETARTH 77 HMBELE
= ™ 80-1 S HEIARTH (81-1) BEhE
=1 7 81-1 =HBTATH 81-1 hBELE
= 7 81-2 = HETARTH (81-1) BEME
=1 A 84-1 =HBTATH 84-1 hBELE
= 7 85-2 = HETARTH (74-2) BEME
= N 86-2 = HETARTH (74-2) BEME
= N 87-1 = HETARTH 87-1 HMBELER
=1 A 87-3 =HBTATH 87-3 HMBELE
= N 87-4 = HETARTH 87-4 HMBELER
= ™ 91-1 = HETARTH (87-1) BEME
= 7 93 = HETARTH 93 HBELEE
= ™ 93-1 = HETARTH (93) SEME
=W A 94-1 = HETARTH (93) SEME
= A 94-2 = HETRTH 94-2 HMBELE
=W 7 95 = HETARTH 95 HBELEE
= 7 95-1 = HETRTH 95-1 HMBELE
=W 7 95-2 = HETARTH 95-2 HMBELR
= 7 96-1 = HETRTH 961 HMBELE
= 7 96-2 = HETARTH 96-2 HMBELR
= 7 96-3 = HETRTH 96-3 HMBELE
=W " 97-1 = HETARTH 97-1 HMBELR
= W 97-2 = HEIARTH (96-3) SEME
=W 7 97-3 = HETARTH 97-3 HBELEE
= & 97-4 = HETRTH 97-4 HMBELE
= 7 98-2 = HETARTH 98-2 HBELEE




IBFF B R RRR (R =1L]

FERIHE (1) HE®RME (F) k=
= 7 98-3 = HETATH (96-3) SEME
= 7 110-1 = HEIARTH (87-4) SEME
= A 112-1 = HETARTH (87-4) BEME
= " 112-3 = HETRTH 112-3 HMBELE
= 7 113-1 = HETARTH (87-4) BEME
= L 7 113-4 = HERTH (112-3) SEME




